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Refute this argument:

“Land required to produce 1lkg of beef can be used to produce 17kg of beans,
and it takes 7kg of grain to obtain 1kg of beef. If such grain were given to the
hungry instead, the problem of hunger in the world would be solved. Therefore,

it is an unethical act to eat meat.”
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Climate change is one of the most important issues for the world. However, it
is true that there is controversy on the issue between radicals and reformist as
followings.

(A) There is a wide and growing gap between the recognition of the problem

of global warming and the introduction of effective international action.
The failings of Rio, Kyoto and Copenhagen therefore mean that modest
emissions cut are no longer adequate. The general consensus is that
global temperature rises of more than 2T would mark the ‘tipping pont
in terms of dangerous human impact, while according to the IPCCs 2013
prediction, these may increase by up to 4.8T.
Concern about climate change has been driven by a kind of
environmental hysteria. Environmental NGOs try to grab public attention
and shift attitudes by highlighting ‘doomsday scenarios’. The mass media
often conspire in this process to make the coverage of current affairs
‘sexy’ and attention-grabbing. Policy-makers may therefore adopt radical
strategies, not so much to deal with the problem of climate change, but
rather to allay public anxieties about the issue.

(B) ‘Myth of easy solution’. Sadly, the strategies that are the least economically

and politically problematical are also the least effective. Renewable energy
sources are likely to make only a minor contribution to reducing the use
of fossil fuels. Carbon trading has failed to produce significant emission
reductions. Technological “fixes’ for climate change, such as the use of
so-called bio-fuels, carbon storing, ‘clean’ coal and nuclear power, have
often proved to be expensive, in effective or are associated with other
environmental costs.
‘Adapt to change’. Most environmentalists view global warming simply as
something that must be stopped, based on the assumption that all of its
impacts are negative. However, climate change may bring opportunities
(new tourist destinations, improved plant viability and so on), as well as
challenges. Moreover, the cost of stopping its negative impact may be
unacceptably high. In these circumstances, it may be easier and more
cost-effective to understand the implications of global warming and find
ways of living with it.

L AREHA AAE Z15Hebt AR 0] A Qjate] ARE omarty gRRolste;
M zolate] 2 5 olu Rl o dSo] 9lerl?

What is the impact of climate change to the environment in (A)? Which
approach, radical or reformist, is more persuasive to you and why?

- Aol AAlE FR13R0)xre] 27Fo] tigh ARple] Hsl=?
What is your own observation about the argument of radicals in “Myth of easy
solution”?

- Rl(Wh)oll AAE 7H x]RS gt ARl Asl=?
What is your own observation about the argument of reformist in “Adapt to
change”?
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What is the impact of climate change to the environment?
Which approach, radical or reformist, is more persuasive to you and why?
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2. (5778) Az(Hh)oll AAlE X132 xre] 274 o] gt A}AlQ] Asl=?
What is your own observation about the argument of radicals in “Myth of easy

solution”?
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3. (F78) Aol AAlE 7R xte] 2440 tigh At4le] Asie?
What is your own observation about the argument of reformist in “Adapt to
change”?
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If it is accepted that climate change would give negative impact on environment,
what is your solution for tackling the problem?
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Honesty change the world

Integrity moves the world
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